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Due date: Name:

Getting Ready for Derivatives (Part 5)

Notes

Recall the following trig identities:
sinx + cos?x =1

sin(x + y) = sinx cosy + cos x siny
cos(x +y) = cosxcosy —sinxsiny

Also, recall that for logarithms and exponentials:
eln* = % andlne* = _Xx

There’s also the change of base formula for logarithms:

__logca

logy a = Tog. b
. . Ina
For example, this allows us to convert from any base to natural logarithms: log, a = I

Lastly, it’s time to memorize the definitions of sinh x and cosh x:

x —X
e -e
. /_/
sinhx = 2 .
e te
coshx = 2

Notes
ex: Rewrite cos(sin™! x) as an algebraic expression.
7]
-
y Sin x=6 y
cosS (§|/\ X) GA@ =X
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1. Rewrite sin(cos™?! x) as an algebraic expression.
o cos'x =0
. Y -y =X
$in(cos %) os0:x=%
= sinG
,’)(1 ( (_K‘\-
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2. Rewrite tan(sin~! x) as an algebraic expression.
—_

e . -lx _ e
. Sin -
ta/\ (Qm x) éfné:x:‘L
=1t4.0
X :
= =

Practice at home
3. Trytofill in the following from memory.
a) sin?x +cos?x=__\

b) sin(x+y) = §IA!\XCOIIY‘\’ o 8Sx §,‘,\y

c) cos(x+y)=_C05X sy —SiaXSiny

d) e™*=_¥X
e) lne*=_X
0,4
f) logya= (mﬂ b (Change of base formula)
GX" e—x
g) sinhx =_——5 — (Definition of sinh x)

X[ =X
e
h) coshx = 2 (Definition of cosh x)

4. Rewrite sin(\ta/n‘iic') as an algebraic expression.
9 -tdf\_ix - 9
. ~ X
Sin(tan"x) tan0 =X =

= 9(/\?( @
IR A S X
e h

|

5. Rewrite cos(sin™! x) as an algebraic expression.

© n'x=0
cos (sin"'x) :‘,\6—4(: 1(
= Cos O
B (—c™ | %
B l el
|-x*



